{A}  Mouse, Keyboard, Printer
(©  Mouse, Keyboard, Scanner
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» from the options given below :
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AQ (@) (i), (b)- (iii), () - (iv), (d) - (i)

Match List-I with List-11

List-1 List-11
Paris Olympics 2024 Position Country
in Medals “ tally
(@ 1 (i) India
© e (i) USA
() -3 (iii)y Pakistan
@ 71 (iv) Japan
Welt-1 & get-1 / yafem |t
TEr-1 -1
ity siiferfimen LR
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@ TR o) MR
® et 7T () YW
© W) wieE™
(d) v C i ) SH

Choose the most appropriate answer from the options given below :

9 fu e faeedi # A waifue sugaa sw 9T
(A) ()~ (i), (b)- (i), (c) - (iv), (d) - (iii)

(F)  Question not attempted/ 3TTA(E T \
It was Monday onJan. 1, 2024. What will be the day of the: fveekon Jan 1,2029?
(A)  Tuesday (B) Monday ©
(D) Sunday (E) Qne’s%xon flot attempted

1 &, 2024 F HHER o111 I, 2029aﬁmaaaﬁ=rmﬁ=rm9

AR (B) \are ©
/g/ Tfem A s
gh-rmgd-nafema (Y o

-1

 WAwR =
(@) e
{t) T
{©) ~ (i) STA

) WeEiwmwEERas  T~(v) oy

4 fium o fagedl 4 @ watfus sugaa 3w Em'rma&ﬁuu

(A) ()i, (b)-(ii), (c)-(i), (d)-(iv) ®) (a) (') (b)-(iii), (c)-(ii), (d)-(iv)
(O (a)), (b)-(i), (c)-iv), (d)-(iii) A0 (a):(u), (b)-(iii), ()-(iv). (d)-(i)
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(B) X (a)- (i), (b)- (i), ()W), (d) (i)
(D) A (@) (i), (b) 3i), (C) ('), (d) (i)

Thursday

TeaR




# Hr 8 typric al nuc dens some tegions of chiromatin are loosely packed and stain light, this regionis known as

()" Buchromnatin t’ﬁ)’ ¢ Npcleosome (©  Histone octamer
(17 Hetereahitornatity Quechon not attempted ‘
i e e 1w % g i (M@;ﬁ') mﬁﬂ?{faﬂ% o ¥ afnifam e € ?i'ﬁiﬁ‘_mww EICk:
WX ¥
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4, Which of the following disttict has h;ghmt peoe £ tio of Rajasthan according to Census, 2011 ?
; (A} Hikaner (B) ~Jaipur ) Alwar
3 iy Dungarput (F)  Question notattempted
1) Y FAO % e nmmvmdnmﬁﬁﬁﬁwmmaﬁww
(A} At (B TG © T
s ® sHAATE
10, ‘Prarn’ 5 b f- .
(py” A ® fm . |
lﬂ y ) aﬂaﬁam ' v
11, Denatured alcohol is ¢ £ ) N S

(A)  farmed when alcohol reacts with oxygén ”'

(B)  formed by addition of conc, bulphurradd to al

(Cy used for the drinking purpose. ,c-»..‘

(1)) the mixing of a dye and methanol toet '

(F)y  Question notattempted 3
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12,  Whichof the ving'4s an example of an impact printer ?
(A)  Ink (B) Laser pnnter
) Plotters (D) Dot matrix printer
~A{E)  Question not attem pted

fanmafmﬁumwmmmmm%?

(A - Bwefde ,w‘f‘ e fifew
©) e ‘ ZD) =iz #femm fifer
) i {mi SR
R Namu the fiest state in India, in which the modemthree tier system of Panchayat Ra; Admmzstmhon was n{optvd
< {A): Kerala e (B . Rajasthan (@ Uttar Pradesh
i ; Mnbar‘ashtm e PaalE Sl | ) B Qucvmon notattempted
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fead the passage and answer the Qns, 14 to 18,

When the reigning world chess champion Ding, Liren and his challenger D Gukesh sit down to
coveted crown later this year, st will be like two peas in pod, in more ways than (:ﬁa f{vr-;: Ding, said that he
of hitrself inthe 17y ear-old Chennar boy. ’

During an interaction with TOL, the Chinese Grand Master (GM) said : “Sometimes [ see him as a version of me.
And we do share some similarities in our playing styles and characters.”

isath Ding and Gukesh's journey to the world Championship had surprised the chess world. After the
qualified for the Candidates following a ban on Russian GM Sergey Karjakin, Ding finished second in the tourname

fLater, when Magnus Carlsen chose to not defend his world title, Ding got the opportunity to fight for the crown
with Candidates champion lan Nepomniachtchi. Ding shocked Nepo to become the new champion. Gukesh's route to
the top, 100, has also been full of surprises. Despite being wrihép off in the 2024 Candidates, Gukesh, seeded sixth among,
cight players, emerging triumphant on his debut.

That apart, Ding and Gukesh are similar personalities- calm, composed and men of a fe
moves do all the tatking, “He (Gukesh) is notin a hurry while playing, he calmly tries to have everythin
He's a very mature player ever at 17. Also, he had said my game has some inspirations for him, so maybe
influence,” said Ding,. '

Ding, who was also astounded by Gukesh's Candidates win, feels the Indian prodigy can be a 'diffic
handle'’. "I have beaten Gukesh twice but what sets him apart is he can play many kinds of openings. And he
wants to surprise you at the openings. So he's a difficult player to handle.”

After becoming the world champion last year, Ding hit a rough patch where
months due to psychological and physical issues. And, when he did play, he had a sefic
five-time world champion Carlsen to make a remark that Ding is "permanently broken

"Well, I'm getting repaired,” he quipped.
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14.  When Ding Liren says that he “sees shadows of himself” in th ar old Chennai boy, he means that -

(A)  They resemble each other 1N
(B)  They like each other (RN
4(‘:” They share similarities in their playing styles an
<(Dy  D.Gukesh and Ding Liren are twins
()  Question not attempted

2~ difficult player to handle” because -

%

15, Ding Liren feels the Indian prodigy D.
(A)  helets his move do all the talkipg. g
_ABJ  hecan play many kinds of gpenings and.can surprise you at the openings.
() heisnotina hurry whilg®
() heiscalm and compe* an of few words.
()  Question ptédd,

o

16,  The Game being disc eis-
(A)  Polo —AB)  Chess (©  Ski-ing
{1y Cricket (E)  Question not attempted
17, Complete the sentence with the most appropriate option from the ones given below :
‘A . isa young person with exceptional qualities or abilities. .
(Ay  Prodigy : ) Cryptiq_v’f'»“,‘ § mk)'cl\ulogist
(I Elegy (E)  Question q_:ét attempted '

18,  According to the passage, Ding Liren journeyed to become the new World Champion
(A)  When Magnus Carlsen chose to defend his world title. ' §
(1) When Ding Liren got the opportunity to fight for the Crown with lan Nepomniachtehi and got defeated
Y~ When Ding Liren fought for the Crown with lan Népomuiauhtcm and won. : ‘ o
(D) When he qualified for the Candidature defnaliﬁ}’};igﬁﬂ Sergey Karjakin,
(F)  Question notattempted e b ;




19.  Choose the most appropriate word to complete the given sentence:

Whenareyou bringing ________ the next issue of your jou rnal ? (
(A) of /(’Bf up : : © out
D) off () Questionnot attcmphéd
20. Match List-I with List-11: ;
List-1 “List-Il
(Type of Coal) ’_-(‘Cirbon %)
(@) Peat M) 94-98
(b)  Lignite i) 27
(¢)  Anthracite (iii) 78-86
(d) Bituminous (iv) 28-30
et-1 FgE-1 A i it
-1 TE-11
(raet @t feear) ( =hTels T Wi )
(a) R (i) 94-98
@) feméz Gi) 27
() sruTEER (i) 78-86
@ fafrE (v) 28-30

() (a)-(iii), (b) - (i), () - (i), (d) - (v) _
©  (a)-(iv), (b)- (i), () - (ii), (d) - (i)
(E) Question notattempted/

21.  Match List-1 with List-1I:

List-I
Country
(@) Bangladesh
(b) Nepal
©

(d) T (iv) TR

Choosc the most appropriate answer ﬁnm the options givén below :

iy fco, o, fareredl # A waifuan sogF 3w ; : :
(A (a)- (i), (b) - (iv). () - (i), (d) - (D) B) D (a)- (iv), (b) - (). (c) - (i), (d) - (i)
©h @- (iv), (b) - (ifi), () - (. (d)- () (D)~ (@) - (i), (b) - (iv), () - i), (d) - (i)
(F)  Questionnot attempted / AAfa W Y '
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W vt the follawiing Bas wiitton the Took ¢ the kot My Sty 7

)" B ekl e () Kapil Doy () Saurabh Ganguly
(1) Ravithastyi () Question not attempted
Fvey WY By ondver nird wndey s e foned) 9
(A)  fs Augign (1 wfyer Y (© s e
LA P e (1) sgafawe Ol
Whieh of the foltowding isa physical change ? %
(N Reaphvation (1) Meltingof wax © (C)  Photosynthesis
(1Y Rusting ot iron () Queation not attémped
frntitiga O s s i ufveda &7 e
LAY i () v feeeEn O X YT HEET

-

(1) Ed s e () st ue

The name o the prosent (August, 2024) chalrman of ISRO (Indian Space Research Organisation) is :

{(AY Dy K Radhakeistiman (B)  Dr. K Kasturirangan

) DK Sivan (1) Question not attempted

Fu) by stattan avqedoae dnaa) & adus G, 2024) span

(A) =L T W) Bl wEdim

() =% e (k) arqufawe

The Chairperson and member of the Rajasthan Public Service Co iinissief are appointed by the :

(A)  President
{m Governog
) Chairmanof Union Public Service Commissio
() Chiel Minister

(n) Question not ﬂ“"‘l\\]‘h‘d

AT oty A e A apewg v g
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(R
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o et 4

@ svpofa vy

na village, two contestants (A and ) are contesting inan election, 70% of the registered voters cast their votes in
the electiog and A wins the olection by 600 votes. If A had received 12.5% less votes, A's votes would have been
expual 10 s voten, How miany tvgmvml voters are thero fn the village ?

v wita o ) el (A SR w e v R E v ey Megg\ weranli R 7o% sk} sveEn wawm

fm 1 A, 600 VR @ e sl afR A w28 w0 mn‘r i aud v g & ﬁrm%tnw:z
fire v W foed ofbop v § 2 :
(A 6000 (M 7000 peuny 7 L (6], 4000
B : (1) Question mt«ummptwlm\"i“ﬂﬂ W
Choose e Wit appropriate option ta fill in the blank .A P : ‘ :
The sahatation s oftivial lettor should be el AP Ry
R Al thesubjct. i M\«mtw.\w -~ ), . :Before thesubscription ..

j‘{,\}«  Aftes thesignatuee (1(; Qumlhmnntnltvmptm!




28. Choose the word opposite in meaning to -

CONTRITE
'(A)/ hurtful (B) concise (Q - pelite
(D) unapologetic ()  Question not attempted

29. Consider the following data:

X 10 20 30 40 50
Frequency (f) | 30 50 90 . 20

fr=fafas ga w faar =i
X 10 20 30 40 50

qEER (f) 30 50 90 " 20 ¢

The mean of the above distribution is 29.6. Then what is the missing frequency ?
3% faaor w1 v 296 ®, 7@ q (f8fEm) afara #=0 82?

AAI’ 60 B) 65

70
®) 50

(E)  Question not attemp

30. “url H S A, el 6 o ®-

/t(&i FEEA (®)

© =E3gmEs
VA T FEAT 1)

31.  Who has been appointed as the 26 Navy in April-2024 2

(A) ManojPandey %sh Kumar Tripathi (© VR Chaudhari
(D) R.HariKumar estion not attempted
E, 2024 H WA A of i (arvae) Ford g a2

& T ® o FER e © e Shd
D) ¥R : () FIARATH

3. B,P,QR, W are sitting around a circle facing the centre, not necessarily in the same order. S is 274 o

to the right of Q. T is second to the right of Rand R is 3™ to the right of P. Bis 3 to the right
of V and V is not an immediate neighbour of P. Then who is to the immediate left of B ?

B,P,Q,R,S,T, vn:aw%:aﬁgumqmmﬁﬁammwﬁsﬁmnmmmmmwmw
s &a % st Q% oi ATE W Y WA WSS IR & T WH TR A R T I3 380 p F o o R dmrw
Rﬁatlvﬁ:mmmmmnﬁatmPmmﬁvwﬁtnmnﬁmwﬁsﬁtmﬁm*&t?
S ® T - © r

M) R (E) Quc-stmn'notammplml/ mm

33.  Select the related option which would replace the qumlmn mark ().
=] Haftra faeerg w1 =9 w190 99 {9 ( ?) ?‘swmm mmt’
ANIMAL : OBNJMB:: GROUND:? ,
(A) SHPMKL ®  SHVPEO ™ HSPVEP
(D) SHVPOP @)  Question not attempted / 370 7E
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§
fi 34.  Arrange the following chief secretary of Rajasthan in the order of their appointment old to recent.
‘5 (a) %hff Rajeev Swarup (b)  Smt UshaSharma
1 (c)  ShriOm Prakash Meena (d)  Smt. Kushal Singh
4 TSR & e wiat w1 3790 Frafan & SeR @ A 18 F w5
(a) =i usA wEy by st T ot
i () &3 W oy (d) At gy fg
4 Choose the most a Pgrtxpriatc answer from the options given below :
¥ 4 fu v el @ watfis sega a9
r A (9).(d). (a). (b) B) (@) (d), (b),(c) © ().(d)(a).(c)
/ APy (b)) (d). (a) (E) "'Question not attempted / RHA 977
. 35.  Which company got lhc status of Miniratna category-1 in March-2024 ?

(A) (,n‘}I lnd.m L.lmlled (B)  Power Finance Corporation

(© Gaillndia Limited (D)  Grid Controller of India Limited

(E)  Question not attempted

e, 2024 H 0 wrdt A e gof-1 1 e & 2

AR wia T fafies ®) WA EE HhE

] &y~ T st fafaze @) fire F9 tE =
l €) AR wA
t 36.  Which of the following key do you press to check spelling in M
: w1 UR a2 § addt |t F fag s frafafaa 3 2 5 @ e o6 2?2
F (A k2 ®) (F9, \ © ¥

& B (E) . Question nef attempted ¥

37.  Where is the ‘Institute of Leadership Developmen the'state of Rajasthan ?
(A)  Mount Abu ® (©  Jodhpur

(D) Udaipur notattempted
| T T 1t At eeti fega 2
| (A) T © SNy
| 38. The three medians P triangle PQR intersect at point G. If the area of triangle PQR is
| 90 sq. cm. Then rilateral AGCQis :
(A)  30cm? ®) 25cm? © Hom?
f D) 20cm? (E)  Question notattempted
£33 POR ¥ @1 Wi PA, QB, RC fdg G T #12d &1 3f2 P PQR 1 8% 90 cm? 81 & wpfsfta AGCQ
nETEaE: ‘
(A 30 & BT 2 © oW
| M) 20 AR (E) ¢ T3t v
' 39.  QandRaresiblings I’ has two children and he is son of E and E is father-in-law of H. H has only one son. R is not

granddaughter of E. Then how is Q related to B2

(A)  Grand Daughter B) " Son (O  Niece

(D)  Daughter ) ‘Qimstim\ not attempted

oM ruA wE A i rF At arE M E HW ugid HER I UE Y3 & ER 9@ R
FERITQ RE R & dau §? %

(A) gRit | @GR ey K 4(‘)’”\{5#1
© ™ L ®  sayE
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41

42.

Ay fena wia i wvn

Which disease is caused due to trisomy of 21%' chromosome in humans ?

(A)  Phenylketonuria (B) Down.‘%yndrc‘)mv
(©  PatauSyndrome (D) Klinefelter’s Syndrome

(£)  Questionnotattempted

mmzmnawxnm‘immmmmm%?

(A)  rmgErnRron SRy e

07 e fm, ) e fagm
T @ e LA

Himalayan Yew tree (Taxus wallichiana) is found in which States of India ?
(A)  Himachal Pradesh and Kashmir

(B)  Sikkimand Uttarakhand

(©)  Himachal Pradesh and Amnmhal Pradesh

(D) Sikkim and Himachal Pradesh

(E)  Question not attempted

fewerdt g 9 (Fwrym aifefaarn s & o gt § s 82

B fofawm sin aoods

© feoma vgw i s w2
() fafern sin fearae w2a

®  sefE s

{r

Select the most appropriate statement for the appointm
He/She has beena: .
(A) Chief ]usuccora]udgeoleghCourt
(B)  Social worker q
(©)  Speaker of the Legislative
(D)  District Judge
(E) Queshonnotattcmpted
e 1 ﬁn‘fm ITF FYA T 9EEH H AT W@ A
- 4B)
© fa
()
(E)
The largest river in the peninsular region s :
(A) Godavarni (B)  Krishna (O Narmada
(@ Mahanadi :fl'l) . Question not attempted
wregdm /i S A wh g
AN Ther By g © g
(U  wEeed '(r-:)« w{afaye
Carbonis: - R _
(A) Divalent | (B) y Trivalent ‘ {©) Tetravalent
) Munov._llml ,ﬂ') Quiestion not attemptexd
K f;rﬁrn‘f 0 B frdues Qw9 T
) Y’FW L/ ety ‘ h =

§v2§ o e Bk 10 ST e e
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:\mm walke 3 R to Fast then tums North-West and walks 4 km. Then he turns South and walks

ki Then agai he turos Wesd and walks 3 ki, hua!h h rechion, h
E ¢ hurns N is he
fresie ‘ih"“ﬁn‘ ok \ % North and walks 7 km. In which directi

(V) Nuoth { South ) West
AN Nath-West v ) i
{ h % {1 Question not attempted

aws A Al 3 Bl v @ Rt o ool W) atn Hewt 4 fdt wer &1 for e 2 w6 SR TR
o ff w*m e ae g it Ry w9 ot 3 Bedowam &1 sia A g 9wt W ST HIHT
7 Rl vt 1 |y f e o Wi fig @ axa*t#mﬁmﬂ%?

AN IR m <Rk : © ufem
{m I wivay ® rElave
The United State of Greater Rajasthan was formally inaugurated on 300 March, 1949by -
(A} Khan Abdul Gatfar Khan (B)  Mahatma Gandhi
{0 Hiralal Shastri (D)  Sardar Vallabhabhai Patel
() Question notattempied
30 v 1049, Y HYH VTG ( United State of Greater Rajasthan) T e sgafies e gra fwm w2
(A) W SR TR S (B) W ik 4
= R R DX T i
) sEuaus .
Seleat the most appropriate statement about blood platelets (Th %
{a)  They have no nuclei. g /
() They are very small fragments of cells.
(©  Theycontain red coloured pigment called hemogl
({)  They participate in clotting of blood.
&) They produce antibodies to fight anti g A
Choose the most appropriate answer frofit th i ow :
(A {a). (b)and (d)only , () and (d) only
) (L)) (d)and (e} only > a), (b) an_c} _(clonly
)  Question notattempted S .
T fiaTe (UREERE) ¥ A R U A B
(@) T A T pLE |
© 3wl el
@ ozl e s m &, Rl et Fe T
) A F aFH
9 A gfyaa (4AF) QA ey ¥ fo whuad 3+ €
i oo e F A R R ST
o wmeeke O et (o), fe) 3¢ ()
w’“ et (). (), () 3 (@) O & @), @9‘“ ©
) srqaft v ‘ ¢ Ll
‘Ram gath Vishdhari wildlife ‘mnchmry' is situated in whuh of the follnwing placo of Ra}jastlmn L S
S AR Hhamtpur PR - (B} ““"‘h : € Jaipur
) Clun oy (B)  Questionnot um‘nxpwd % el :
g firprt 3 ﬁ"m :smmm tmﬂm éﬁ ﬁmﬁfw f & fam e am ¥

: mﬂfﬂw

g 1...;1'}1" o
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51.

52,

@ aﬁ:mfm}

- (A)  Righttoassembling peacefu

| fqmfaf H @ WA A F W geen sfrmi (geyered) v &2

Rusting of iron takes place :
(A)  Inpresence of water only (B)
(© Inabsenceof airand water (D)  In presence of air only
() Questionnotattempted :

R we S T ¥

In presence of both air and water

() e g W safefa A Wmmmrmuﬁamﬁm
© T aen e e srafeafa § (D mmm‘rmﬁm

(F) IR

~In the context of Indian Constltutxon which of the fol]owmg is not a fundamental duty ? -
(A) Tosafeguard public property i '
(B)  Torespect the National Anthem
(O  Torespecttheelders
(D) To protectand improve the natural environment
(E)  Question notattempted

W dfaum & oraR frafafaa § @ w5 a difeas Fda 1@ 82
(A) gt dufa F gran w3

(B) TS A Al

{(Ef T W THH HIA .

(D) WA gaierer Ft e SR GER S

(F) IT{aiawe

Which fundamental right cannot be suspend i

an emergency ?
““JRight to freedom to reside anywhere
(O Righttofreedom of Religi ’ & ' 1_; Right to Life and Personal Liberty
(E)  Question notattempted \

ST % S ot HE | ﬁaﬁqﬁﬂﬁmmmﬁv

() wifeqet T € B o W@ MR L
© ‘ ' o e iR eaferrT e
Which of t ng is India’s first interplanetary mission ? e

{!&) Manga ‘ (B) Astrosat € RISAT-1

(D) Chandrayaan-1 (E)  Question notattempted Kk

(a) HAwEE ) TERIE (Astrosat) : (C)' RISAT-1
e 3 g 4 - 3 i ) s
] - 1 \ (8)  sTdfa s : ey
" In which state did ﬁw‘}upmm Qourtr«?cmtly ew.:let to halt illegal mining in the Am._ﬁh m"g,é; o
(A)  Haryama - e ] Rnpxsthan TR O (;u;mat LA
(2 B sz}db '. ; {E): ' ommtat!vmpt«xd ; oy

‘vi@mﬂrmrmmmmzwﬁmmm> '

:m‘m wpravErd A1l 3‘@ M‘qm mwz




54, Choose the most appropriate option to fillin thc blank :

Would you like to heq / ‘gl
ﬁ,((y!_aum};’ vhear __ storyabout ___ Englishman, _____ Irishman and
<{A)" a.an an, a (B)  x an, the, the (C’) a, the, the, the
1) the, an, an, an (E)  Question notattempted
55.  Which salt does not contain water of crystallisation ?
(f'.’*) Baking Soda (B)  Washing Soda © Gypsum
(?)) I}luu}htmﬂ () Question notattempted
freferfen W 4 fa e i fresia & wa 78 farg ‘
(A} T H HE B)  HEw R © foom

56. In24days Acando75% ofajob.Becando o of the job in 24 days. In how many days can they do '} of the job while

working together ?
(A) 6days (B) 8days
(D) 5days () Questionnotattempted

e N 1 -
A 24 fERi 1 75% %14 7 e €| BEE F = w24 feA1 o

feerd foeti H 0 %2 wawa € =ard |
(a) o & © 10 fel
() 5 f
57.  Which area of Rajasthan is a part of ‘Arid
(A) Hanumangarh
{Cy  Barmer ‘
{£)  Question notattempted
oA T e A A EA
L5 el
) A
(E) aﬁafm g
55 Chmw the word nearest in meanirig to the underlined word,
He tried to alleviate the su ffering of his neighbours.
| AAYT distribute (B) remove . O aggrevate
1Y ab;tp (£ Quwtiun notattempted ' A7t

£7 59 ’,w;;,,;h of thp following is the cloctrumc brain of the C umputer ?
La (;’53' Mt:mf)z‘y 5 v ®) Cru (Qt’ﬂh‘dl Processing Utit)

SO Control Unis oAl U(A“‘hm“‘“ Logic Linih
S Questionnot am-mp“*‘j :

:fvrxﬁqu HA zﬁa A gm;ﬁw i b
i : : (m
! ’1f"ﬁ
sﬁaﬁa m

‘ if')» o
{g).

Al ~ PTO.




61.

EZ)Amlsmum‘Sym;p aﬂw{i} "mmﬁ System £ Dhgesihelpgiens
(D}  Circulatory System E) W:mammpi&ﬁ

AIDS F, T E Sy 2

(ay Sl v~ Fmb . < W’i

@ wETmE ® FEEEE

Omoseﬁmmostappmpﬁateepﬁgntsﬁﬂm&mb!éik: ‘
I'vegot_______ friendssol'mnotlonely, but of them never vis e
(A) many,afew AB) some fewer G oonesome

(D) none, many (B Questionnotattempied

Choose the most appropriate reported form of the sentence given:
“Where will you be tomorrow”, I said “in case ] have to mestyou?”
(A} Iasked where he would be the nextday incasel had to meset fom.
(B) Isaid to him where he will be next day in case Lhave to meet ha
(O Tenquired abouthis whereabouts the next day incase Iw
_B]  lasked where you will be next day mcaselw’xiimeeﬁm
() Question notatternpted
What is the “RAM” stands for:
(A) Random Access Memory
(O Read Anonymous Memory
(E) Questionnotattempted
“RAM” F1 JUET F & ?

gl e e 3l 9~ ==

- - -

D) TET==T=a

ptical storage device?
T sidTs S AR 2
® WL © =ifss
R o

The sum of radius and he&ght of asohid C}’ImderiSSS cm and #s total suriace araa is :wma«-»- h&e: 3 %u@zﬂ-

T lof Cyﬁu}dﬂ‘ ? _ o
(A 12on’ v 42‘3"5‘3‘5 @3? ETL
) 4100 cms : ({'} Qaﬁ’tmm ot at‘&mﬁhﬁ

' ‘@mm:wm mmﬁ*&ﬁmm“mﬁ%&ﬁm%m%ﬁwzm%@%h mmm

‘,,_{87 ma Wﬁ"‘* e ‘:xif:,‘;" 3123 B




g’, ‘ Which of the full(fwing it the most ensential for germination of el ?
{*{» Lapht () Tertifizer (C)  Hightemperature
(gf)) Water () Question notattemptad
},’ﬂ{f 1 CiE 5}"—}{{‘("«?[ 4 ffciul an aife ' SR %?
(A) ) By ©  FmmE
Ay (1) st e
g7, Whichof the following organization !‘ir‘mt the highest level in order of Panchayati Raj system in Rajasthan ?
(A)  Zila Parishad .(B)  Panchayat Samiti (C)  Gram Panchayat
7 (1) Kendriya Panchayat (F)  Question not attempted |
- bl 3 A a e e deredt s goredt g e s o § o
(}/ foren ufree ®) e afafa ©
() W g ) Frafe we
68 Which of the following formula depicts monosomy ?
feaferfera ot W A wi vw=pEpRn gt § 2
(A) 2043 /rﬂr 2n—-1 © 2n-3
Oy 2n+1 ) ()  Questionno pte v
69.  Which of the following place of l(ajﬂ_:éll}':\r;:x is N an led desert areas of India ?
(A)  Jaisalmer (B (© Udaipur
(D)  Jodhpur notattempted
rorear w1 e 7 B w1 TR A 1 T 82
T I \ W o Faq
© (D) i sraf 9
: i: 7“ ‘Which of the Mlowh; 4 anppaque object ?
Py { A) Water ‘ (B) Kerosene
- : M)  Glass ' - Question notattempted
e i mrzrwwﬁm” ;3
bl (A WA
_‘ ®) (i) £ W’f’“‘m

f_-m:ﬂrmzm , o

sy men 1 ""“t‘ﬁ') fetawen

'Qﬁmﬁmm AT R (i‘)' Chuastlur;n;rt_agt;*:azlwleei




72, Match List-I with List-11:

List-I List-11
Indian Player Sport Associated With
(@  Manu Bhaker ()  Cricket
‘(). Mithali Raj {ii)  Shooting
A¢).: PVSindhu (i)  Boxing
:(d) Mary Kom (iv) Badminton
gelt-1 W g1 S i e
S M -1
o R IR TEdwag
b,
)  fed i) Fromest
@ W=HE Hi) RS

@ Ws ) Sefr=s
Choose the most appropriate answer from the options given below :
T few T fowedt o § waifie saga sw 9
@ @-G@0-0.0-0.@-0v  ® @-G@) -6
©  @-@®)-Gv), (-G (d)-G1)  AD) i
(E) Question not attempted / 3TTA TTH

73. Siumla. is cooler than only Manali. Nainital is colder tha

“than Shimla but not the coldest. Which among the f ',,
(&) Mussoorie

D)) Nainital tattempted
ﬁmmmﬁwéx w@ﬁmmm%mﬁzm oS tw==
F IO IR T EAR?
o ==
74. -
(B) KalyanSona Q Sonara
(F) Question notattempted ‘
By T EA O
(F) FTREATA

75. i"’nmmada kayal lake is situated in which state of India?

: {(A} Gujarat B) Kerala {0 WestBengal
£ @) Rajasthan (£ Question notattempted
{kwmmm%fﬂmﬁm%? ! G
Ay T : AT W | © vhemdes
@ TR B gEeEa '

76, - e’ v H oy wi- %‘mmu@ﬁm‘m% ‘
W o = sy ‘ @ wEREn 2] Q)
>ﬁwwmm e ® SR




Amanstarts a busi S i N ‘ . -
\Lf.t;ivit\; thoml \L:::;:\: \«\: th Rs. "M’ and 2 months later Chirag joins him with Rs M/ 2. 1 month later Praveen
“N% < R.s' Q100 Wh A "8 M J l_"ht‘ difterence between the profit received by Aman and Chirag at the end of one
b o e atis the difference between the profit received by Praveen and Chitag ?

« - S

A Rs 28600 s |
(1:: : 2% ::1 () Rs. 38,600 ©  Rs. 40,000
(7 8. <5,

: E)  Questionnotattempted
M T HRIR TR fivan 3l 2 T ¥ s P wd wm s, M2 B i @ g e 6,

ST N T AM R T e I @ ) O e wmiw s of o wm i H 79100/ F AT A
W G T gR W T N o T gad ) :

WRAT.

() T 28,600 By T 38600 © F 40000
(D) ¥ 25,000 i € SEIRAT-
8. Givenbelow are two statements { 4]
Statement (1) : Balathal is an important .1rchaeologic$l chalcolithic site in Rajasthan.
Statement (1) : It was excavated by V.N. Misra. Its contact with the Harappan Civilization is attested from the
house construction.
In the light of the above statements, choose the most appropriate answer from the opti iven below.

(A)  BothStatement (I) and Statement (1I) are false.
(B)  Statement (]) is true but Statement (I1) is false.
(©  Statement (I} is false but Statement (IT) is true.
(D)  BothStatement (I) and Statement (II) are true.

()  Questionnotattempted
HUA() : AT TR 1 T Hew g A
HEA(): T G ST a3 = ot
IO Al ® S § frefafaa fas
Ay F=E([) 3w (p < swE
gy e () TR, T AD
Q w1 AT g
)Rr e (1) A (ap A
(€ U T .
79.  Which of the following lamental dutyiSaddedby the86mConstitutionAmendmentActinAmde 51A of the

i itution f dian?
Indian Constitution for toraguar . . ‘
5 ' ity f India.
! i protect the sovereignty, unity and integrity o -
f;; ‘?; :I::\?ifea:;pirtuniﬁes for education to his ward or child between the age of six and fourteen years.

: d public property and to abjure violence. .
{gﬁ ifgge?;d }t;:e cou!lj\try and render national serviceﬁ'fvhen called upon to do so.

) sion not attempted ¢y i :
gﬁé;:z;;u;:;uﬁ sifufraa g Wﬁﬁﬂﬁ%ay@}smﬁﬁnﬁwﬁ%ﬁﬁmmﬁ}mmmm
syep s i g g T E? | P Stk i#

(A) mﬂﬁﬁgm,wmmmaﬁmm@x:maﬁmmy ,
Mmﬁfmmm we 3 wew @ w: m%uﬁ@_m#mmm:

(@ T & e wen s R AR
Dy S = v T, SO W AR FA IR




B0, Which peopraphical region of Rajasthan does not share theis boundary with Hargana state ?
(A) Ari"/ﬁ” “‘“‘”ﬂ (H} !ymgh ,,ﬁ “,‘rn }’L!i"l!” !!‘?’){jﬂl
() S anCeepion hy ¥ m!m&!’hm reon
“ } chu@ithlﬂ ot e "‘Ph o Fo

Fresfertiaa 1 arwre gy i a oo d o e oy o A o Tom 7

(A) st g m mqﬁwﬁ el
©  andyes A (" pht it
(1) svqaf uw N
81, Treferfer i wmsmes dom $- ey
ANy e w © =
) T (F) sty
82.  Whichof the following is not a type of spreadsheet program ?
(A)  Microsoft Excel (B)  Googlesheets Pose symphony
(D) ZohoSheet (E)  Question not attem $6
fretferfera ¥ & w4 m e o #0 w94 22
(A EEERE e ®) T A oy = e
:g&y ElRiich '

83.  "The Amphibians of the Plant Kingdom' are :
(A)  Bryophytes
(D)  Thallophytes

(© Gymnosperms

“ ) o ===z
B4,
B reluctant () lberal
(E) Questionnot attempted :
85, Which of the 10 owing is not a function of the control unit ?

(A)  Interprets Instruction fry
(B)  DirectOperation "
(©)  Guides data flow through the computer memory
(D Controls Sequential Instruction Execution
; (F)  Questionnotattempted

ﬁﬁwqammmmmmaﬁ??
(A) mm
(© TR R g < peg il

LI Ry Wﬁmﬁmmmﬂ

"
F
&
-




QR m@mmmuwmww&: PrOCess, respvactvedy, aze -

(&) Feand Mo .. MO, and Fe K NOsxd Mo
£ ~ande & Queston not ssermpaed
wa’thﬁm‘——?wwp—yg
@ Fe 33 Mo B M \.wsf £ NO P Mo
™ Mo Fe ® -~§‘-:—;g o i
£7. &@Sﬂmwwbhﬁimwwmm?
{A} Narmada () Godavar € Krshoa
O Tapi i3 Qms&g:wta.&ap&d
FRERAS TR w s
Jﬂf i ® =0 o =
% B FFEaEse
= A shopheeper marked 2 product. 60% 2bove the cost price and sokd the product 100 after giving tho
] successive discounts of 10% each. Find the cost price of the product.
{A) Rs 23000 ® Rs 2500 30.000
@ Rs 20000 B Qusstonnat
TF IR 1 TF TSR W T T 60 FhE s gt TR 0% TR T T TR
Fr IR F SKRETEwmaIws :
{A) ¥ 23000 - 00 © = 32000
_DyF 20000
8%, Match List-T with List-I:
Name of Element
{2} Sodmm
© irm
lodine
TEr-1 -1
CEE
TR AN
Ty Wi ) mm%
{t& , @ Wmm%ﬁr
iR = SR
W SR @) m‘ﬁmmtm
mwwmawmw{ewawtmﬁwepmywnww
A R faeest 3§ W g R

—ffﬂf @-@EM-E -Gl B (ﬂ*lm)»ﬁ‘) (0. 46) - (v}, (d) - i)
ey @GR -y @) (@) Gk - (). (G- 0. ) - Q)

333 \Ms&muﬂammpkdﬁfﬂﬁﬁﬂm 50
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0. frefafad § swyx fofaa am B-

(A) | 7 & AT & S T (B) tﬁn\mmﬁfﬂﬁh
ey w wee s w fea e () Y - WEd 3 T

(F) m e

. s known facts, Read the
g1.  Given two statements to be true, even if they scem to be at variance from wmmun:i:“zmg fe ad the
conclusions and decide which of the given conclusions logically true e from the given statem

Statement :Some hands are eyes. No eye is }Ef' Alllegs are hairs.
Conclusions:

(D Nohandisa hair.
{I) Someeyesare hairs. _“

In the light of the above statements, choose thé most appropriate answer from the options given beicm
{A) Ionly (II) conclusion follows

{B)  Ifboth () and (II) conclusion follow
(© Y neither (I) nor (I1) conclusion follows
(D)  Ifonly (I) conclusion follows

(E)  Question notattempted

2 HE TR WA aw < A fXe e R, gufe s e amavitﬁf
g & s g e et | o @ freed qeaget 1

HYT : TS T G § | 0 i WA § 1A
e

O  HE T A T e
(11) @N@W?l

L

& i
MmN

_‘:ﬁsaﬁfménmﬁaﬂ(

(A) wﬁ%ﬁra(n)ﬁm?énﬁ
® ARIE Q) )
© zrﬁ'—rm(l}aﬁm(n) e

92, ldentifyd

(C) He ha ived in London for two years when I visited him.
‘/"U:))» He lived in London for two years when I visited him.
(E)  Questionnot attempted

93.  How many squares are there in the following p‘ic:hxm ?

mﬁfqﬂqmﬁmaﬁ?7

.

(F} Questmn mtaltgmplmi/mﬁam §

80,




94 - Which m‘nvie won the best feature film award at the 69th Nah‘nn.a! Film Awards in 2023 ?
~{A) Gangubai Kathiawadj (B) RRR
(&) Sarpatta Parambarai (D) Rocketry : The Nambi Effect
()  Question not attempted

mﬂ@ﬂmeﬂﬂé%ﬁnﬁﬁn@nﬁm%ﬁn%ﬁaﬁfﬂ?

JA)5 TR Sl B ST S S,
(O T TOHaRE D) m 7 At gha
E) FgaRa v
95.  Which institution released the environmental guldelmes for stone crushing units ?
(A) NITT Aay og :
(B) NGT (National Green Tribunal)
(©) CPCB (Central Pollution Control Board)
(D) NAEB
(E)  Question notattempted
oo dIgA T g HelHl 3T e & fae gt gt fe fee e e
(a) ffa smEm
T WA fesgma (wsid,)
e, (FEa wgue FEa ae)
(D) TATIAL
() Fgaia s ,{ |
96. Which of the following area of Rajasthan i : ith water from Indira Gand.hi Canal?
(@) Churu (b) Jaisalmer <%, ; a]t;)dhpu: (d)  Ajmer
Choose the most appropriate answer ons given below
| ‘ Iy
(A) (b)and (c)only ®B) (a) and (c) on
© (a)(b)and (c)only ()  (a),(d)and (d)only
(E)  Questionnot "
W%ﬁqﬁé st 7R | g o fvaa €2
@) v‘:ﬁ (© MR (d TR
=ﬁé e T faredl § A wAiUE ITFH I T :
& (b) 3T () ¢ @) & () IR ()
,ﬁq et (a), (b) AR () (o) W(a) (cw‘r((d}
(E) W ! ‘ !
' 97 Nahana.l Remote ‘-eu:»m;, r Centre (NRSC) is lomah:d at? ¢

® Hvdmbadf - @ Sriharikota

" (A} Bengaluru
: {E) Quesbannntam:mpmt

(D) Ahmedabad ! . |

”"j"_,?@vmmm(Q’«‘mmﬁmﬂfm NG e ae ,

A - SR By %mm’ | VotRi il .1 Ma-. |
«11_-_‘?,1-@, SR e e

L
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o Fetor +
R e

98. The total number of 3 different colored pens in a hox is T62.f thevatid sy T cokorrestt A B SO Sy, ;
is 5: 3and the number of black pens is 13% % of green pers, then find the difference potween et ottty

black colored pens ?

rrai iR s T S e s gasean t m?*m*rs‘:ww-r S R D w;:#”-:z

YT S EET R W B e W &Eg—%ﬁgﬁmmq,m 5= w-zm“"mmg-»

oA S ‘
< 12 ® 1 < 3
Oy 10 ® Qumwmgmd’ﬁﬁm

9, T T % TSN § 96 e 99
@) T - e ® Twowm g
O TR-IJE ® SEEEvE

100. “SUYEE ¥ WOE 9O B
(A SEEVE
D) T ®)

101. Which is the main organization for the Devel
(A) RICO

{Q  District Industries Centre
(£}  Question notattempted

W"I \RAEICU \

3'*-.43‘»-_-
o ) o TS
& el

o3, Fretetga § go fimm T E-

Lo IR 5 )
oy weaEes ®

104, Choose ﬁmmﬁtapmrmte passive’ formatthe «mm, ‘_u_"i?-gmum ,
‘ No one can do anything shout Thecase unless «nmmmgmm I rrediion
_r,iﬁd" Nothing can e danc ahodi $he case, unless W por T D aru
B  Someonchasto give more farmaEtion 1ar ok m\u;;mmﬂhm}
4o (C) * T do anything more information opagquired. ‘
e o Linfess SOMeons gEves us AT uummsxnnn ww@&am‘ &ﬁmwmmh :

o m,. Qumn et am.mpnxﬂ

,‘ ‘-,‘3‘3 )




105, Nlm htate s NOT a part of the*

108,

109,

1o,

pr’mﬁmm ®

oy

Dethi-Mumbai Industrial Corridor I

. roject’ ?
: {r\) Maharashtra (B)  Punjab ¢ {C)  Rajasthan
: _‘(TT‘} Gujarat ()  Question not attempted
f 9 W W u e - shenfires wferam wfeden? 1 sm = £2
(A HEg B o ol Q T
® T (E) Fafaws et
106, Choose the most appropriate option to fill in the blank :
He abdicated the throne _ his eldest son. .
{A)  inlieuof (B)  bywayof P (© infavourof - :
; ,(D}" against ()  Questionnotattempted
107.  Who was the founder of the Chauhan dynasty of Ranthambhor ?

{A) Vigrah Raj (B)  Durlabh Raj

(D)  Govind Raj (E)  Question notatte
ToreiiR & T A9 GEIE S 92

() fameTs ® TN

bt et g b g &)

TARREL S © FEm

Fraid 79

as ‘@59¢" and ‘KITE' is coded as ‘$9%!". How will ‘PINK’ be coded in the

In & certain language
same code 7 : ot
fmm T # GNP F wsos’ W S KITE F r59%¢ H F1e 5w 9 #1387 W # PINK W FE wrw fam
R ?
_,pwr" #95% (B) 9245 © S19#
Sy $8st : ()  Questionnot attempted/ FTAE TH
'. in which month is the festival of Kajali Teej celebrated in Bundi?
s ravana ] ®) Bhadrapad 7 ¢ () Phalgun
A 1 -

- .@ﬁxmmmm{ f*wmzﬁmmﬁ?

‘-ﬂ”) Chaitra ()  Question notathﬂmptm
I L 1 | g

T el e

§V23 o o8

™ Jiait (®  SpEfaye

RTINS S ORI s S 2y s



e
B e

111

113.

. Match List-I with List-IL

Match List-1 with List-I1:
List-1 List-11
Boli/ dialect Spoken mainly in Region/ Areas
Associatedwith |
{a)  Hadoti ()  Jodhpur, Jaisalmer ~
(M Brij Bhasha (i)  Sikar, Jhunjunu g
) Marwadi (i)  Bharatpur, Karauli ?
{d)  Shekhawati (iv) Jhalawad, Baran - ,
[E-1 e Rt S
-1l
g@mﬁﬁm/@ﬁﬁﬁ?’ﬁm%'
(2) S, AHE
® T, gF1L
© VR, FAH
(d) AEATE, I

1 fau g faeedt F | waifire Soga Sw g
A @-(). (b)- (iv), () - (i), (d) - (i) ®)
©  (@- (@) O)- (i) ()-(v). (-0 AD)
()  Question notattempted / K e RIEGRERE]

List-I (Fair)
{a) KarniMata
()  ShriMahavirJi
(¢ KapilMuni
(d) Kalyanji

TE-1 imq?ﬂ-u J_gHIH

©
{d)

Choose the most appropriate answer from the optxons g:ven below :

mmﬁmﬁﬁﬂmﬁmmmqﬁq

M)mwmmmmmm Jmemmmmd
O AW-0.0)- . (0): 000 ﬂ»@@mm@m&&
(F) Questionnotattempte o/ STAIE W s

‘Pichhval Painting’ is associated with which school nf An ?

A) Kota <% {B) Nshnngam S , :

ED) Bundi () Quectnu;;mt ““&mpted (©)  Nathdwara 7

fqg-méqﬁrr form won fagem @ waf@ €7 ‘
Ry (B) fryrrmg ‘ e

a) wE : : ‘

: 24




114. Select the incorrectly matched pair of plantand its economically important part

(A) Alh'm'n sa.tivum -Stem (B)  Rauwolfia serpentina - Root
(O Terminalia arjuna - Flower (D) Curcumalonga - Stem

(E)  Question notattempted
frefefiaa 4 4 o frem i Wi aon 350 T nfefe w9 1 weergel geg M A B

(&) TeTT qgE - wn By wfe i - w3
© e srefr - g () FG e~ 7
®) 3TERa T

115. ‘The Valley of Flowers' is situated in which regxon of India ?
(A) Uttarakhand Himalayas

(B)  The Arunachal Himalayas %

(©  The Eastern Hills and Mountains of mea!ayas

(D)  The Darjiling and Sikkim Himalayas £ Tae
()  Question not attempted E s

"l IR wRa & fem dx H fem £
IuuaEs feae™

®B) " suTad feare

Aoy feurea w5t vl veifedl iR wda

D) wfsifem ik fafemy femem

() AORayH

116.  Which Article of the Indian Constitution prov:des for a Gévernor in each State ?

(A)  Article 155 Article 159
(D) Article 153
wcdra dfaur & R =] & g1 :
(A) DI 55 TR 159
Dy~ TR 153 ]
vi Biosphere rese in which state ?
B S ® Sikkim © Assam
(D) WestBengal (E) Question notattempted
=1 ZEt AR T ¥ ferd ®2
(A) FEEE ®) fafem (& s
(D) wfyEm gma (E) SHuf@yd

118. Whatis the shortcut key for the central alignment of a line or text in MS office software ?

@mm&mﬂf&w?ﬁmm%m%mm%ﬁquw%p

JAyTCul+E ®)  Ctl+X @ Ctil+AR+S
(D) Cl+ W (E) Quésmm not attempted / aﬁ‘!ﬁ‘d e
| 119. Choose the most appropriate an,lish transla tmn nf the given sentence,
g e | ') :
(A)  Hehasnotdeceiveyou. (B) ' You have not been deceived.

(©): - Youarebeing deceived by him, .ﬂ))"' He did not duguve you.
. (E) Quesh(m notattempted ‘

2'3'..§V23 i e S

n
'

v
i
%
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,'\« 3

120 If?.coszo +35m0 =3, “hem 0° < § < 90° then whans the value of 5sin?20 +cos 9+coscc228

')
z:ﬁ: 2C0528 +'§9m0 =3 "3!8{ 0° <h<90° @l 't'ﬁt 5sin?20 +c0520 + cosec220 1 A W?FTT

® 2_ 21‘ : f:(‘_:’v_‘g_s'_
fD) 15 S
121 WO e 4
m Where is the natural gas based Ramgarh Power Plant located ?
“(A)  Bikaner (B)' Udaipur
(D) Jaisalmer

(E) Question notattempted
mgﬁﬁﬂa T T mwmm femd?

)%/m

;-124.. ‘The sunhght passes through
- rainbow in front of him.

'l'lus Sun phenomenon is due
(A) effectof refractxon ¢

\‘.combin ed effec rsxon,refrachonand reﬂechonofhght
0TS nfhghtonly

mwaﬁ@ﬁmmﬁlmﬁmwfﬁ

_ M,,_.._,,plckingu. ¥
(H) is g

(£)  Question not attmléted ;

26



126, Wha propoundad the theory of the origin of Rajputs from the Nagara Brahmanas ?
(A} Dr. DR Bhandackar By  Vincent Smith ‘ ()  GauriShankar
M JamesTod (E)  Question not attempted
TR AT & T ) sl o fieta o vt fan 2

AN RS IR ®) fiiffom (© g
) T ® R
127, Dhol dance is associated with which area of jo;;’s'ﬁ\an ?
A laipur ® Jalore (© Pratapgarh
O Sikar ) Question not attempted
T TR E HaN Tem ¥ FRam
® R LBy W © TR
@ W (F) SR WA
123, Whichof the following is/ are example of corrosion ?
{a) Ironrust (b)  Black coating onssilver
& GreenCoating oncopper (d)  Galvanisation of iron
Choose the most appropriate answer from the ophons given below :
A @and(d)only ® (@) (b) and (c) only yonly
) (a)only () Q\ﬁ&,ﬁon not atte
Sroriefon 3 W G W/ REm /g L
LA
(xS o), S AT W STE
©  TRWE VIE W IR @ - pre iyt :

<% fg o freed § R walfus sOgE
(A} FEAG) W (b)
o) FEE)

) 3 () © FER@

1 CFE-EE IR W ET e

(A 5Ig-FH AR -THT /(C)/- ﬁ»‘mgm~m§“m
o Fa-foem s ’

130 Which of the followin; 3
(A Violet light travelSfstest {among VIBGYOR) in vacuum,
{5 Alithe coloursin VIBGYOR travel with (rhe same speed invacuum,
&) NoneinYIBGYOR travols in vacuum. s
| (m Red Tt travels fastest (among VIBGY l?R} i vacuum.

& Qaeuonmt attempted B
?’Wmiiamma@% o

‘:mx‘aévm.mmﬂ&wﬁﬁmmmﬁhnﬁsmh
f {z;_\. ‘ h&hﬁwm,m&ﬂa%ﬁir’&Wmmmﬁﬁmwm
e frin ¥ viscyOR S AR G o w wwe e s
o fxs*arﬁvmmmaam«xmmmmﬂhmm&s
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131, avveRnR Cwn w0 wam Feafaiaa § @ fag o e g7 .
= ©
(®) =™ PUER
O [y () e e
132, Choose the most appropriate word to ¢ umplgtc the given sentence «
Ny

The mmp\lahou of titles of books or articles that have been used by a person for writing an article is tefme(
as_ e

(‘\) Hlasphcm)

(B). ' Bibliography (O  Biblical
-6’5 Biography

(E) - -Question notattempted

133, Which of the following is an esterification reaction ?

Fratafas § 4 97 @ v wiemo
(&) CHyCOOH +NaHCO, - CH,COONa + H,0+CO,
()  CH,COOH +NaOH — CH,COONa + H,0

©  CH,COOH +CH,CH,0H HY, CH,cO00C,H, +H,0

. NaOH
D) CHyCO0C,Hy == C,H,OH + CH,COONa
(E)  Question not attempted / 3TAR@ ERES

|

134.  Who among the following is the Chairperson of State Planning Board ?
(A)  Chief Minister LB the Assembly
(©  ChiefJustice of High Court #D)

(E)  Questionnotattempted P YA

TSEE TG ASHT A1 Al | B HA MR ?
GELEl ferem wwT avemey

© TSI

(€)

135, Inwhich gam of Paris Paralympics 2024 Mona Agarwal won bmnzé medzii )
(A W m Air Pistol SH1 (B) R8Women10m Air Rifle Prone SH1
© A 10m Air Rifle SH1 ®) R2Women 10m Air Pistol SH1
® O onnotattempted .
3w 5 2024 & Tor0 G® = H N SRR 3 e v s § 0 . ;
(A) R3 e 10m A frwe SH ‘f(q)/ R8 RIEET 10m W e m SH1
(©  R2 7EST 10m TR ATFASHL - (D) R2 AT 10m W fyw qm

136. The metal which is not found in the free st.m: is L

: (o) Silver {B) -~ Ph\tmum s © Imn e
™) Gold - (E) . ,,‘_Quostmn notattempted
TR [ amn aR s ooy
mz{éjmﬁw tnﬁ ’,‘o\:,_-”. ; . b
) IR o AB) e TR ey b
@) @ C®  FEOE e _ 4




137. The horizontal distance betwaee ;
elevation of their rﬁi::“ti\l:(e tt::[:‘;rl:ntr‘lvt‘;fllwl(:?lm " :t‘ngth I8 metres and 8 metres is ‘m’ metres, If two angles of
(in metres) is ; om of the other are complimentary to each other, then the valueof ‘m’

:WQ’:‘ﬂ’ﬂﬁm*ﬁﬁﬁfﬁmw’Qﬁﬁ’f}'m;?ﬁa%mﬁ:mﬁwﬁmmﬁmﬁm;ﬁr@ﬁf
T ¥ T o e (e ) e "
(D) (E) Questilmnp'tattcmptod/ﬂiﬂﬁﬂm

138, ‘w7 wfy-fasa wm-

(A) T (B) T P s
(@) T ® s,
139, ‘Subordinate', % ferg wgE & e - |
(A) S ) s QT
(D) = (F) SN T
140. fyefafas § fHyamams g49m 1 5w 8-

W Kl ®B) =& (

D) T (F)  TafE w

141, What will come in place of question mark (?) in the seﬂ%?

. faeafafza F w0 d gearad fa ((?) % A WO,

44,22,22,33,66,7. - S e e
(A) 100 : © 165
) 96 jorinafastempted / SFARA ¥

142. 1n which year was Rajasthan Atomic Po 0 _‘n}issioned ?
e ] S HaR A f A ) fearm T e ?
Ly~ 1973 © 1980
(D) 1963 Question not attempted / 3T{TRA 55

143. Thesimple interést on :

3 at same rate for 2 yéa "415. The rate of interest per annum is ;
faredt wr ofer & 2la @ farg wvmen = . 300 ® oft S ufn @ il wafu & fav awafs s
7. 315 dran B wfa ad R W E !

AT 15% ® 20% e
0y 10% (E)  Question n;zgultcmpmd/mm
144, “PrroFred’ g faEE Am - =N
. g
) B ® o e
) f"d"‘\‘

145, Haw=b™ b= cland s a¥ then the value of mQ n, ks t\'fmil’tu 5
Vg g, e e ah B, @ o, n, K ﬁﬂ'ﬁfﬁm ,
; § : ! - § i

AN ST T e )
oy 0 , () Question not attempted / 37Taftd W




146.

147,

The sum of all the factors of 120 is

120 % #ft Torel w1 A do i
(&) 310 A7 360 | (Q J81)
© 300 () Question notattempted / srjelie e

When was the “‘Objective Resolution’ presented hy 't Jawahar Lal Nehru accepted by the LNy
Assembly ?

(A) 9 December, 1946 M 26 January, 1947 (© 22 January, 1947
)  29November, 1949 (E) Questmn not attempted
mmmmw‘ﬁwm'aﬁfﬁn&wmwnﬂw e v 2

(A 9 R, 1946 ® 26 W‘ﬁ 1947 (©  229mal, 1947

_ APy 29 WamR, 1949 (F)  safa we

148,

149.

150.

Thearea of a square is 912 +24x 4 16, Find the measure of the side of the Squ
TH A HATEA 012 + 241+ 16 ¥ ] % eI WY |
(A 3x+2 @) 3a+4

D) 3x+1 (E)  Question not atter

3+ B

©
U

All the opposite faces of a big cube are coloured with
64 small equal cubes. How many small cubes are there v

@@W(m)%wm%mﬁﬁﬁ, '
(egal) F fasafaa v man 14 frad o
(A) 24

®) 20

vivand Red colours, After that it is cut into
y one face is coloured 7 :

§ e ﬁiﬁmﬁmwtthmmuﬁmﬁ
DN vt s e o 7 '
' A 30

u(‘.gﬁqt:\ notattempted / sFafia yys
: are availablein new slide dialog box ?

?r?ﬁﬁfﬁfg-fmﬁammxt?

d’/

§

T4 TATE HWAR (dialog) 7 /o
(A) 14

o 7

© 7
(F)  Questionnot attempteqd / S1aft yey

~0Q0-




